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Instructions — ﬂ@gwy&ssﬁr

1. This question paper contains 30 questions in Part A(General knowledge) and 140 questions in
Part B(Psychology, law and Pohce related subjects).

@eralarrsgrefies uGE ‘o’ Quirgigpfeiss 30 aflernésend wHpd UGS ‘o
2 erailwed, FLL 1D LPPID &Tausvgienp Fbwhgwnearena (140aflammsser) o cireren.

2. The type of question paper (A, B, C or D) should be shaded in the answer sheet usm%,l;]uc orblack
ball point pen. The answer sheet without shading the type of quesuon paper will not be evaluated.
@ aflerrssrefier auensenwi(A, B, CorD) aflent_ mﬂw ISP GM_Te @)L SHe Bavid
(1) smiy Bp Lured Limdeirs GLiermenaud rrm@ sTp & eir u:_sm_ ch_s};m

naEnelen auensenus LI enL 1L mafllL_meb, oyks aflent_ggner @I iom1_ng).

3. Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet.
Oﬂa‘li_ﬁ}#ﬂ’ﬁﬂw, favib (1) sy Blp umed umiier” Guearmenad Glamen (B 1186 cTevmen T
DFDESGN SL_L_Fev Gr@@ LT L eni_ Bl L_ajib.

4. Answer all the 170 questions — 170 Gaeralssné@Ld aler_weallds Gaiam@ib.

5. Each question carries half a mark.

@aIblaur s Gasals @b ey oF 16l Lieiw aupmis i @)Ib.

6. The answers to the questions should be shaded in the relevant cirlces using blue or black ball point pen.
aflenL_aenan heuid (1) sy Bp ured s’ Cuenneneaus GlErem (D s HS el L migseflsy
ulen B L_eyib.

7. For each question only one answer is to be chosen and shaded.

@ aflerralln@ g allenienw . GGw e Fi_aub.

8. Forwrong and improper shading, no marks will be given.
saupns ule BluyemGar, susse Bussmsa GedgrlGar oyps Gaarald s
F 0Ly RenL Mg/

9. Write the Registration No. in the question paper — ulay creinanen Gasirallssmeflcy o ga,n.o.

10. Write the SI. No. of the OMR answer sheet in the question paper at the appropriate place
OMR aflen L ggneflen srarensar Gaerallggnafiey erupsa)ib.

11. Ifthere is any printing error, or error in page No. in the question paper, the same should be brought
to the notice of the invigilator i lmmedmtega
.p_r.og; eflernggnelled gGseib gsas BenpGun, udasisear sMuns Beveraii L rGer,

puriesaswrarfiib apeopul’ @ sfwres Gaearaflgsranerss Qupps Q&maremiomgy
mmwbﬁuua@ﬂw

12. Al! the questions are bilinguial except language questions (English & Tamil).
LT LiLiG S (24miSlevtb oppilh LA ) Basrallsensr sailissl sjenansg GsaraisenLd () rem®
Gmflaeafigyid Clar@aas i Berearer.
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PART ‘A7, General Knowledge
J
UGS ‘o : Qlimgy 2lay

L. Iftwo Straight lines are Pempendicular to ggep, other, thep
A) m;xm, =] B) myxm, = |

BLen o

A) myxm, =. B) myXm, = |
©) m=m, D) m=-m,
X y2
2. The length of the Semi-major ang the length of semi-minor axis of the ellipse —~ +t——= are
144 169
A) (26, 12) B) (13,24)
©) (12,26) D) (13, 12)
x 2 )’2
2, Té_lz + ‘1—6-5- =] ST ,ltci'rmt_'_t__,s_@sél ST Clpi’ . ga BRI ey GOPI& Formieen
A) (26, 12) B) (13,29)
) (12,26) D) (13,12
3 “Cuomyd Smuilgp” sTeirgy Gunﬁmdu@um&
A) ﬂgléuagrrgcir B) Qﬁmeﬁmtjunmnmﬁ
Gy Y Feni D) am, 3, CogiPsirenay
4, &‘mm.’.rqurrw;smg BupBuies; w0
A) @mm}@q.mtﬁ;,srﬁiv TGy B) 2D jevay s
C) FEUNZIL1 oy ey i D) sn81b yovays

A) 14 lines B) 10lines
C) 12lines D) 7lines
6. ‘Euphemism’ is the use of T inthe place of harsh worgs,
A)- dffensivc word B) Inoffensjye word
C) Eponymoug words D) All the above,
7. The Gupta ruler who was hailed as Indian Nepoleon
A) Kumar Gupta B) Chandragupla II Vikramaditya
C) Samudragupta D) SRandagupta
1. @ipw Glpu@unaﬂwm sty HEPpULL L g1y L Busrremi
A) Gwng @List B) @uewn_mp BRI NET0mE) G 0y

C) IR @i D) evagzg Gligi
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8. The founder of the city of Madras

A) Dupleix B) Robert Clive
C) Sir Thomas Roe D) Francis Day

8. Gasenen paay Hpiafwalf
A) puprGan B) gruil Renensi
C) i gmwev Gon D) Agnenflen G

9. *Sathi’ was abolished by

A) Lord Hastings B) LordWilliam Bentinck
C) LordRipon D) Lord Curzon
0. ‘#8 wepou gfibsait
A) Gapsvgden HoL B) afsveflwih Queingrir iy
C) Miuer Aoy D) adgsr oy

10. The birth place of Renaissance was

A) England B) Germany

C) haly D) Russia
10. pioeiFRulisn SrusL

A) @afenps B) Qgiwedl

C) @émned D) papwr

11. The West flowing river of India is
A) Narmada B) Krishna C) Godavari D) Cauvery

@3Runaier GuopHlsd umyth FR TG
A) mirsT B) ®pepenrit C) Gangmaur D) arGeul

12. The important sugarcanc producing state of India is

A) UttarPradesh B) Karnataka
C) AndhraPradesh D) Kerala
12. @pBwnalle wpdHu a@pibLy 2 HUSEH Gl Lonileuib B &HLD
A) 258 irGped B) afpaL&m
C) apBrdgGssd D) Gayperm
13. For becoming a Lok Sabha member the minimum age limit is years
A) 21 B) 25
C) 30 D) 35
13. wésmeney o puinieri gousHETET GOPEFULF WG ———— B ST Y SLD
A) 21 B) 25

C) 30 D) 35
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- The number of official language in India is cE—
A) 14 B) 15
C) 18 D) 20

- @ERwrafe BB s D g G}mrfgﬂamﬂc& sTaenld ang
A) 14 B) 15
C) 18 D) 20

- Money Bills can be delayed by the Rajya Sabha only for____
A) 30 days B) 20 days
C) 14 days D) 7 days
j}_@m@aﬂgn&sﬁm wrBle enanferish
A) 30 pa ser B) 20 pm s
C) 14 sm ser D) 7 moc s

. The Governor of a state is appointed bythe. =2 .

A) People
C) Chief minister

B) Parliament
D) President

- 96 wWiwiBer oy wnmeny Puldg

A) wéser

C) wse syenivsai

Price Discrimination is possible only in
A) Duopoly

C) Monopoly

B) LITIA@E LD LD

D) BYWISE sensvaut

SR
B) Oligopoly
D) All the above

- aflee Gugih S Figed SneTOL@engy
B) ResGeaumi weppifentn

A) Qo wppihens
C) wipifenio

A) Cost push inflation
C) Demand pull inflation

A) Qeawey 2.5 L ofSaih
C) Gasemay ey uemralds,

. Production refers to
A) Destruction of utility
C) Exchange value

- 2 PUSE erciig

A) LIweiTLIme iy et 2iflay
C) wapgy wE Ly

D) syenenggii

- Too much money chases too few goods refersto

B) Hyper inflation

D) Profit push inflation

- ABSLLIG wirer Lienmh has GODES LT Kisenar SITdgIeug)

B) Hens Ceuay Ligssra T i

D) @evwnus 2Bg L

el s ih

B) Creation of utility

D) None of these

B) LTI eng
D) agiopdbena

2 (e 5 &b
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The demand for the factors of production is
A) Direct Demand B) Effective Demand
C) Derived Demand D) Aggregate Demand
2DUSBd s ey FNTeN % sl iy Cgenay STGHTL gy
A) Croy.g Gaanay B) 20188 Crenas
C) Oupiin’ Gaenay D) gl;@@mng'g,é Gaanay
When goods are imported for the Purpose of export jy s called as
A) Foreign Trade B) Home Trade
<) Entrepoy D) Trade
IDDIOE %G geyr g’ ser @mé@m@ Oadrunyp ML el sTer
HADPREL D ih
A) G?mﬂﬁﬁsmi@ aNermiimmp B) 2. arEm g QN
C) gy TOD0E alwmiimgp D) STy
All the items given in the adjustment wij) appearat in the final accounts
A) Three places B) Two places
C) One place D) Four places
B ETEGH 6T gusmi @;ﬂwdu@mnﬁsb Fifldia, BEmeallsy BICLIGE LA g g
Bomsia g ———— Csreipyp
A) wsiy @i misofa B) @6 @ sdsas
C) om Jo T D) BISIE @ Kiosefley
A Hollow meig] ball carrying an clectric charge produces no electric field g points
A) outside the sphere B) on its Surface
C) inside the sphere D) ata distance more than twice jis radius
Beirgom’ (3 Glupm 2-aaf_bm Gamemy LIBg) @ity STBSLI Lisirafue) a&mqwgmﬁ
TBUBGsng o
A) Cameng D GeralGuy
B) Carang Deir Cropugiifen
) Gamm;&ﬁsh 2 arGen
D) sz BIE B i @(gm:__ai;ﬁ};ﬁ@ Guoah 2 girgy BN7EF D
- How mych energy is released when one amy jg wholly converted intp energy 7
A) 1 Mev B) 200 Mev
C) 931 Mev D) 105 Mey
0E amu ﬁmﬁ:wnﬂrg WDDVTE gy LGUbBLigy @maﬁnﬂguu@w B Dmeler Hemay
A) 1 Mey B) 200 Mey

C) 931 Mev D} 10%Mey
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. Among the following, which atom does not contain neutron ?

A) Helium B) Hydrogen

C) Oxygen D) Nitrogen

LReirau o eTa b oir, Bl gner @evevns ST 1B ?

A) afellwib B) evamt gspeir

C) adeflgein D) enmilogoeir

Which gas is used to weld and cut Iron metal ?

A) Ethylene B) Ethane

C) Methane D) Acetylene

Bwioy 2 Caunsgeng @enewas wpmih Qan’ i LWSTLELD QT e1gl ?

A) erg@eber B) waGaeh

C) 185Gzeir D) @ g sleir

Biochemical mutation is reported in

A) Sorghum B) Cicer

C) Neurospora D) Drosophila

2. uiGaul Bieit wrppb @RS seim Gy dsiu L g

A) Gamenid B) ensai

C) AyGorevGuimgn D) 1 GonGemIsveun
. Which of the following is a C; plant ?

A) Maize B) Sugarcane

C) Rice D) Amaranthus
. Ueraumaietalnpieir s15) Cy graumb o

A) wdsnGanenp B) amibey

C) Qe D) syommisen

Who first developed Vacecine for ‘rabies’ in man ?

A) Robert Koch B) Joseph Lister

C) Louis Pasteur D) Stanley

waflgfed Griav Cpmitde wpaer upseisd SHULRew sehm NEsant
A) @omuil Gand B) Ggneatr eflevi

C) ared wmevr i D) evGiswal

The most abundant *Green house gas’ is

A) No, B) O,

C) Co, D) So,
Quepbunsitentowns snemiiuGib seventmy. alE aumyy

A) No, B) O,

C) Co, D) So,
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PART ‘B’ : Psychology, Law and Police related subjects

UGS S : 2.emaflwe, FLL b LPHMID STMOFID FIDIDBSLILILL !

31. Whether “LUNATIC” is a competant person to testify before the court as per Sec. 118 of the
Indian Evidence Act ?

A) -No- He is not a competant person

B) -Yes- unless he is prevented by his Lunancy from understanding the questions put to him
and giving rational answers to them

C) -Yes- He is competant to testify only in civil cases
D) None of the above

3. @EPw sneps sl gRer Ifey 118 ar Ly “IasT @usari BBeipsFHe e’ AGFrsba
BGH uripgarT 7
A) @at - s@Buppa
B) gytb - paraiitb Galsiu@b Garelsdn LyfpgidCamsrerah SapDIsHES

LGEsPeEEsEs uBasmmCaT@UILSDHEG ITg LTSSl penL_uins @evevraiig.ed

C) gt - o Menwaups@aaicd @b srHGlansie SGRUTUFESUITS SOHGLILIGaITT
D) GuGe Qensiar allanL_aer GLITmGESTS

32. “A” Prosecutes “B” for theft and wishes the court to believe that “B™ admitted the theft to
“C"” — who should prove the admission of “B” 7
A) “C" should prove the admission
B) “A” must prove the admission
C) Both “B” and “C” should prove the admission
D) Both “A” and “B" should prove the admission

32. PoL GsGipsBpsens o aeuan @ et g GppapsE QFT@ER D
‘@ seEBoLetupd ‘s aeaii b guystarear it sier fRwdipdens
pouGeeim@ih srer oy spEpmi. wik 2Fs aplyegew Ciliiss GusGib 7
A) “&8" Giniss CaemE b B) “»" Guodndés GeusdmGib

o

C) “&" wppnb “&” Quiiids Guer@n D) “o wppib “@" Gwdiids Geustr (@b
33. Whether a “Police Officer” shall be compelled to say from where he got information as to

commision of an offence ?

A) Yes — He can be compelled by court

B) No - He cannot be compelled

C) Yes — He can be compelled by Defence Lawyer

D) Does not arise

33, smeueh y@IUeT eTeueTLLh SUF GO YL L QFHp FEaush sTpeanuh s R
Quppri eery sfelld@bug sLLTUUGSS wpgwLom ?

A) syt - BPuepsETeD

B) @y wng

C) suth - e¥@iAgoUIy eupdsdlerunsd s mw UBSS Loy ujth
D) GupGlensren aflent_aer Gl ks g
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. “A"is charged with travelling on a train without a ticket. The burden of proving that he hasa
ticket is on whom ?
A) Prosecution B) The Burden of proof is on “A”
C) Burden of proof lies on the court D) Does not arise

. g UereTLant LwestER g sbevmosd Gruleleh Lwenh Glaulgans @b FL UGS DI,
St @ Lwemd Blen evaugBpani adLiens Quotina@Lh &enio wneny FNABSSIGLD ?
A) yoasnlifsy B) Gueunfd@i seoin 3" ena nipss1GL
C) Guindéet sew FHweaTndens D) GupGensier Gasall e1pprg

F S TELD
How many witnesses are required to prove the “facts in issue™ in a case ?
A) MinimumTen B) Minimum Twenty
C) Minimum Five D) No specific number of witnesses required
S aupdfen Lgd 2_giram @i Awiias ssvang Clounds agsenen sm_Fuid
Gaenau 7
A) @epistiucsib - 10 B) gepisuab - 20
C) gepistiu b - 5 D) egsemen sn Fwib Gsenas ster

arengupasLILIL afldens

Whether in a criminal proceedings the fact that the person accused is of a “Good Character”
is relevant or not 7

A) Relevant B) Not relevant

C) Only in specific circumstances D) None of the above

GDDUPHS Bl denssalcd BN FH@Geh oWl SITLIS T FRIEE
Qan_iyppsrs EESLILELLT (Ssbag) Geamaun o

A) Qariyppsns S@GHOIUGLD B) Gsm_iuppsrs s@EsLE LD
C) fo @pPerwvssias Qpm_ippsrELd D) GupQensrar allenL &6t GILITGBSIH

How the contents of the document may be proved as per Sec. 61 of the Evidence Act ?
A) May be proved by “Primary” or Secondary evidence

B) May be proved by circumstancial evidence

C) May be proved by oral evidence

D) None of the above

@sPuw s’ fude L FPe Ifey 61 & g speuentiigefien o siren_dsgeng LI
Quinfgset GausnGid ?

A) waewss en’ AuggnGear, @uemnpsr s’ HugsiGan (A EE N T

B) @phlenevd ensinpl apevth Glouifgacms

C) eumdi@Quomyf) sm Huih ppevid

D) GupGansren aflen_aeir Quinmpsigs
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39.

39.
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Whether a Judge can ask irrelevant question on a fact to a witness during trial ?
A) No - Judge cannot put such questions B) Yes — Judge can put or ask irrelevant questions

C) No - But he can ask in civil cases D) None of the above

e FPwep pHet s shsBeow upBlu “CFm_iupp Gasralenw” Ga&l & (pigufom 9
A) wprypwng - Qe iupp Casrallenw Gal s wpigwng

B) guib - Ganiupp Gadraflenw Calsevmbd

C) gprpwng - spemned o Mento auppdgaailed L @b CsL sevmd

D) GumGlendrer afllent_ser GLin@EBENS

When a man is presumed to be “dead” as per Indian Evidence Act ?
A) If he is not heard for 15 yrs or missing for more than 15 years

B) When a man has not been heard for 7 years by those who would naturally have heard if he
had been alive

C) When Death Certificate is produced in the court
D) None of the above

9@ wellgi @pig oML eren fDiosirpib sIBLNG SEmHSUTLD ?

A) wyeuit srsigerarni eren aflugs 15 gL misesdE Goa GaMwmosh GumenTsy Sysieus
Syeuit snemmioey Guinermed

B) wyeui ol @@ERGULITRD yeuenglt upd Guskunas Gasirall Ly BEs
Sl WTHET GpTE® STEHIH@ Juengls upp Gasraills L_ailsiensy ster
Gotnfg s L med

C) wyeuir @pig oL gre snsip) S04 G50 Gladrgmsy

D) Quplendrer alenser Glumgppsng

What is meant by “Leading Questions" as per Sec. 141 of the Evidence Act ?

A) The question asked by Judge

B) Any question suggesting the answer which the person putting it wishes or expects to receive
C) The question asked during ‘Re-examination’

D) None of the above
@BPw enddr i gBe farldl & Ly e QuirBelaméasr ereipred ereitar 2

A) FBwepggne Calsliu®n Caaall (o) allerr

B) efeney@p @aeui b Oup efGhyRp ssag a@iunifen aflen samend @GplLiLme
o enriiggIh e155 eflerea b

C) wmp afsngenemuicr Gung Gssliu@n Gasirall

D) GueGlardrer allenLser QUnGHEIS
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1/3 portion of a tank is filled, with 80 litres water. If its half portion is filled, what will be the
quantity of water in litres 7

A) 120 litres B) 160 litres C) 80 litres D) 240 litres

# gementt Qpmliguller apefles o5 LGS 80 L i sewesdmair Hrouliul Gerangs.
Ggm g ullssr syeny UGH Bpudiul Lis, sBgyser sewenlilsr syere) erdsemer oL i
2AGb ?

A) 120 &S si B) 160 afliio_i

C) 80 @ o rr D) 240 e o i

There are some bananas in two bags. The number of bananas in 1% bag are 1/3 more that of
the 2™ bag, If there are three bananas less in 2™ bag than 1% bag, then calculate the number
of bananas in 1% bag.

A) 6 B) 9 ) 12 D) 15

@@ enuseallsh aureny upriser 2 srerer. e enuligyerer LpiEsT @ Tais
enuifigyeiran Ligprigenar el 1/3 s Bswn@h. @oem_reng eoLufled 1psea s
2 éitoreng el 3 qunenpliippriast Genpanerney, pge erLndgyerar Litprisenen s R e,

A) 6 B) 9 c)"2 D) 15
ATea trader mixes the two qualities of teas into one at the ratio of 5:4. The rate of first quality

tea was Rs. 20 per Kg and of the second quality Rs. 30 per Kg. He sells this mixture of tea at
the rate of Rs. 27.50 per Kg. Find out his profit percentage ?

A) 10% B) 124 % C) 15% D) 7)4%

Cgali greir aflpueant Gmarens wggraraemer 56 4 aieip aIRssHe sws@pri. wsea sI
Gaafi grefler allensw AGewraip@ en. 20 -1b, @oedm_mb g grefeir aflansy HGeur e5.30 py@th.
sl th Qadis 1 gnener RBeun, 5. 27.50 ardip VRSB appred Hent b
Bovnu #5 AR Geng semBifiy.

A) 10% B) 12 4% C) 15% D) 7)4%

. Raja starts from point ‘A’ and goes 5 Kms to the North. Turning to right, he covered 7 Kms

distance and again turning to right covers 5 Kms distance and arrives at the point ‘B’.
How much is the distance between the points ‘A’ and ‘B’?

A) 5 Kms B) 7Kms C) 12Kms D) 17 Kms

. @umggn ‘A ergyih el pyoibiGE, o Bensulley 5 MGevr B it Qasv@pmi.

aeiudgsh Bawnd T S Ceur 5 i g1ogpib, iBefm@ib susvlitidsh Bubld 5 HGeunr
Bl grogpts Gaeng'B'eargyh yeareflorw gyen Aprir. yerel A @ Bég
Bl Cuusirer 1o steiten 9

A) 5 8.8 B) 7 8.8 C) 12 8.8 D) 17 8.8
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45. What should be put at the place of "X in the following figures ?

A) 25 B) 47 C) 37 D) 41
45. Bppasem uL g ‘X' eraip @SB @) rda Coramguw ety ereires 2
76X AN
4 - 4

A) 25 B) 47 C) 37 D) 41
46. What number should come in the place of question mark ?

27 24 51
19 | 46 33|57 2|17
A) 83 B) 75 C) 64 D) 69

46. Gasrald @Ml L @ 86 a1hs eramanemd @plni. CGauaw®id 7

T 24 51
19 | 46 1| 5 3 ?—‘

A) 83 B) 75 C) 64 D) 69
47.. Which term is not correct in the series ?

15,45, 90, 360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080
47, Bperer aullenas Glanied gauprer e e15) 2

15,45, 90, 360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080

=
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A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how
many did he solve correcly ?

A) 12 B) 16 C) 18 D) 24

@@ wireseue Flunes Qs semd@amer ol @)Iav® LG semsH@GHeT Faipras
Gledigisiranmair. s wremeue 48 sewd@amard Gallgierarme sranrey, syeuer GFs
sflwmer seswd@saflean areivenfldens araiamey 2

A) 12 B) 16 C) 18 D) 24
A coin was tossed two times. What is the probability of its head and tail on the ground ?
A) 0.25 B) 0.50 C) 075 D) 1.00

SO 16 @)Gpenmn wewty @il Ul L gl SIS Seevuih, aTguth (L, Feme) senguiles
alpaugsp@iu Papsae siaren o
A) 025 B) 0.50 C) 0.75 D) 1.00

At the fair I bought 6 erasers and 2 pens for Rs. 15. If I could have bought 4 more erasers for

Rs. 14 than pens for Rs. 9, the price of a pen was

A) Rs. 150 B) Rs. 1.75 C) Rs.2.25 D) None of these

S sewmarC_Hullsh prer 6 pluisesh, 2 Guermdassid 15 esumiide anmsi&Gersir. Glongsh
4 Guenndser 9 epLmis@ aumsigasne uBans @ergyib 4 glissr Guongsib 14epLimi
wil @b QEr@gs wurmFearsy g Cusimals allas areauerey 2

A) Rs. 1.50 B) Rs. 1.75 C) Rs, 2.25 D) @eeu ergiaib@evensy

. The mother of Mohan is double the age of his sister and his father is 20 years older than him.

On the day of the birth of his sister Mohan was 5 years. If at present his sister is 17 years then
what is the age of Mohan's parents scparately ?

A) 34,35 B) 38,40 C) 34,42 D) 42,34

Gunaaflst gmi, seuer sGanglew oflL Forean® we s HBs anugib, yeigget_u
sheog srauenar aflL20 auwgid o Bapsr igeir. Gunaatflsr sGangm Ipps Cumips
DuEIE@ wwgl 5. sHeUNLps seus #Bangiulsr anug 17 ererpred Guonsefler
GupBpnllehr euwig sreiren ¢

A) 34,35 B) 38,40 C) 34,42 D) 42,34

I'bought fruits from the market in a bag. Looking at the bag, my daughter asked me about the
quantities of fruits. T replied all are oranges except 15, all are mangoes except 20, all are
bananas except 25, how many fruits are there in the bag ?

A) 40 B) 60 C) 50 D) 30

wer #pensullelBhal @5 eLuled LpRiseT aunER ks euew LMiEs a6 e,
upprisaien eremmenfidensen GalLmear. 15 gafly erevevnib syuehe Lpmiser sreiigyh, 20
priseuTs Sjeneggith tombLipmiger, 25 Fhlaema SFILD QUTENLPLILIPEISET ST TIILD
g Garedr. euufallmps Lpriasiist Qonds sieivenidems eteiren 9

A) 40 B) 60 C) 50 D) 30
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53.

53.

54.

54.

55.

55.

56.

56.

Manohar starts moving to the north from his house to go to his friend's house. After covering
the distance of 100 metres he turns to right and covers 400 meters distance. Again he turns to
right and reaches his friend’s house after covering the distance of 400 meters. In which
direction and how far is the house of his friend from his house ?

A) 500 m, South-East B) 200 m, East
C) 500 m, South-West D) 300m, South

w@eanai pemut ol 1y HE Oasba, seit ol 19 eS@hS eUL_L)DLOTE Qew@pmi. 100 Bl
anoih Qaap ereni evaviiypih B 4008 g1ygens sL_aRpri. Bew@ b
ariypib Dastbrd 400 15U gnoth Gladiipy peut el e syenSpi. BemLeten af®
s1is Basuiied, eraieusmay snrsBea @R 7

A) 500 18 Qzenr-Rlpde B) 200 f By
C) 500 8 Ozer-Cuops D) 300 8 @p

A bus completes half of the distance at the speed of 30 Km/hr and completes the second
half at 60 Km/hr. If the total distance is 20 Km then in what time the bus will complete the
distance ?

A) 90 minutes B) 60 minutes
C) 45 minutes D) 30 minutes

o6 Bu@is Qewe Gaenyw gus urBew wellée 30 8.8 GuadPaib, ]
un@enuws toenfla@ 60 8.5 GousgBaib SR s Glongsh Glasvey Geusimg.w grow
20. §.18 staflsh erarauaray el GrugBer CumBEs Sbs s1Idmss sd@b ?

A) 90 Aublmiaeir B) 60 @ifle_mismeir
C) 45 Pl miser D) 30 gl mismsir

Which of the four numbers given will complete the number series when put at the place of the
question mark 7

512,277
A) 4 B) 36 C) 24 D) 58

Ruperer 4 arefumailay aris s16, eravy Qsm_gyser Gasral @lenu LLFGH Gadiuyb 7
2.3:42,27, 7

A) 54 B) 36 C)24 D) 58

There are 50 national level players in a college. The college specialises in three games.
9 players play all the three games. 17 play only two games. 5 play volley ball and tennis.
7 play volley ball and cricket. Equal number of players play only cricket, tennis or volley
ball. How many players play cricket ?

A) 22 B) 29 C) 20 D) 34

e sagniuie 50 GsFw Sjenadlsh aflenerwn@Lh LoAeRIRITSET o siTanaTi. SiHs Hevgi
apeinpy efemerwn @aesd@ Hpciny LlHe sefdfmns. 9 aflenenwrl. B afgisar ppemy
afemerwn’ Gubalensrar@aut. | T wremauiaa2 alleerwn’ Gl G Gw alaaur@ear.
5Gur  ‘auneduned’ whpnh ‘Oueraflay’ efenarwn@esi.  TGui  eumaflumgy’
‘BAFQs B’ afeverun@eaut. #o crairenfidmauilay o aflenerwi @ afyiaer
ARE0s, QL arefan Syawg araiurd wl GGw alamarur@eai. agsmer Gui
BM&Ga” allenemwim@eut 2

A) 22 B) 29 C) 20 D) 34
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57. *A’and ‘B’ start from the same place for the same destination and they take the same route.

57.

58.

58.

59,

59,

“A’ starts at 8.00 a.m. and he drives at a speed of 40 km per hour. ‘B’ starts at 9.00 a.m. and
he drives at a speed of 50 Km per hour. How much time will ‘B’ take to catch up ‘A’ ?

A) 3 hours B) 4 hours C) 5 hours D) 6 hours
A B @oash 90r @00 nbiiss. 50s anflufie, @Gy @)_dengs Gosipant_uw
Gevein@ud. A srenay 8 wenfldw Clsm_mia), weanldg 40 8.6 L7 CaissBed g Gpmi. B

snenev 9 wenflé@ LU G el SO .80 i Casgfle gl @@&pri. B, A e
Qesitpen._w ersiseuaray Grath 2&LD ?

A) 3 weefizenr B) 4 wenflser
C) 5 wenflser D) 6 wenflssir

The following arrangement is based on a certain principle. Keeping that in mind fill in the
vacant space.

816|4
3 7
14 | 16 ]i
A) 4 B) 5 C) 6 D) 8

@A L aBenw sy e wnss Qsmein( Bupsirer s L_g@Beb eravmaeir
SIpsLILL GsTenen. &neSlwns o erer s L_gens Bodiys.

8164
3 7
14 16|18
A) 4 B) 5 C) 6 D) 8

Find the missing number in the matrix
4 3 5 7
7 6 8 9
8 2 12 ?

20 16 28 50

A) 13 B) 14 C) 16 D) 18
Bupsirer 1"t 86 STETLILIL % sTeiwen e S LIy dEayb.

L) A 5 7

7 6 8 9

8 2 12 ?

20 16 28 50

A) 13 B) 14 C) 16 D) 18
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60. In a family there are five brothers who are not yet married. Each brother has a sister and the
mother alive. How many women are there in the family ?

A) 6 B) 10 C) 2 D) 5

60. 9@ @GEUsRD BEwenonsng 5 sGangyiad o arereni. gaiGlang sBarsrmsE
#@angfuyb, smyd o uNmL_r o arereni. s GRUDLUSE 2 erer G sTGFenen 9
A) 6 B) 10 C)2 D) 5

61. A clock is showing the time 12 hours 40 minutes. If a mirror is placed in front of the clock,
then what will be the time seen in the clock through the mirror ?

A) 11 hrs 20 mts B) 12hrs40mts  C) 10 hrs 10 mts D) 8 hrs 50 mts

61. g suyargd Grrsens 12:40 eren a1’ GRpgI. G sovammyenw SEs Hig ST Her
upeitened eneug ey, s sngiBer Guoh erarerains senrenmy ey Ggub 9
A) 11:220 B) 12:40 C) 10:10 D) 8:50

62. ‘A’ and ‘B’ are real brothers. ‘C’ and ‘D’ is a couple. ‘E’ is the daughter of ‘A’. ‘B’ is the
father of ‘D’. The husband of ‘F" is ‘B’. The mother of ‘A’ is ‘G’. ‘C" is the husband of the
daughter of ‘B’. *H’ is the daughter of ‘C’. What is ‘H’ of ‘F* ?
A) Daughter B) Grand daughter
C) Son’s wife D) Daughter of the daughter

62. ‘A’-tb ‘B’ -1b 2_ewenwownrew aGangoiast. ‘C -b, ‘D’ -1b gbuBaer. ‘A -eir wasr ‘E'. D' -ar
spens ‘B, ‘F'-ar sewaui ‘B, ‘A’ -6t syibion ‘G’ waen ‘B’ - e seraui ‘'C”L 'C'-air woaeir ‘H'.
‘F'p ‘H' ereirar 2_peay gpenp ?
A) waer B) Gui® C) waseleir L al D) afleir Loseir

63. A shephered had 17 sheep. All but nine died. How many did he have left ?
A) 9 B) 8 C) 12 D)7

63. @@ Guiiuer 17 g Ga6r ereugBisnes. saupple gerg yEaamarg saily wphpeea
@nigiail e, Bgipsiter oy RGN sThGenar ?
A) 9 B) 8 C) 12 D) 7

64. Ramesh is standing on the bank of a river with his back facing the river. A piece of a paper is

flowing in the water from left of Ramesh to the right. If the river is flowing from the west to
the east, then find out which direction is Ramesh facing ?

A) To the East B) To the West
C) To the North D) To the South

64. 1Guwey BT serBLnTSBe s WG PSS srlpwiiy Berm C&rewy Ga&&pri.
@ OPlu arRzs g @ sGuweflsr wliypsPGEs Qr-givpons pRUS (Azig

GeaBpgr. pRwreng CupRelwhs Mypdans urnipgre, 1Gwey GpréHullmd @b
Bensenw sy &aayLb.

A) Bypdg Cprss B) Gupw Cpré®
C) aurd@ Bpraf D) Gspe Crré®
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65. ‘A'is the mother of ‘B’, hence ‘B’ is the daughter of *A’. This logic is
A) Right B) Illegal
C) Doubtful D) Totally wrong
65. ‘B’ ¢it gyibiom ‘A’ . eren@au ‘A sir woseir ‘B’ erenGeu @)is gidsinreng
A) &M B) s afGurgioneng
C) #50s455148 1 wnewg D) wpdlaud gaupreng
66. What will be the relation of myself to the paternal aunt of the daughter of my maternal uncle ?

A) Paternal aunt B) Wife of my maternal uncle
C) Sister of my mother D) Aunt

66. srsirgien_w Bmiiomner waaller sEas anfl sFgesd@in aad@Lh acTaT 8 pay
A) sieg aufl ysens B) sminbmosr inenerald
C) erérggyeniw syibioneleir sGaas D) siges

67. In a certain code “TOGETHER” is written as ‘RQEGRICT". In the same code, ‘PAROLE
will be written as
A) NCPQIG B) NCQPIG C) RCPQIK D) PCTQNG

67. ew suGag @i ye “TOGETHER”, ' RQEGRICT sten stupsiiu Gsireng). 23
@i geb ‘PAROLE’ e1ips sT@dgidan ms aupsliu g ma@is »
A) NCPQIG B) NCQPIG C) RCPQIK D) PCTQNG

68. If ‘POND’ is coded as ‘RSTL', how is ‘HEAR’ wrilten in that code.

A) GHIJ B) GHIZ C) NGZ D) JCIZ

68. 'POND’g ‘RSTL sreirgy G55 @plusi ig.cb srpPevnsd 2G5 @pfluft 1ged ‘"HEAR g eriiiig
STLPB LD,
A) GHIJ B) GHIZ C) IGZ D) ICIZ

69. A peon told his friend, “The bell in the factory rings every 45 minutes. The last bell rang 15
minutes before. The next will ring at 3.45 p.m. “At what time the pcon gave this information
to his friend ?

A) 330p.m. B) 2.45 p.m. C) 2.30 p.m. D) 3.15 p.m.

69. 96 sguaws o gallwnei geir petmLL_tb, @Es semevullsr 5 45 AL EBHS 90
wpap @alé@Ld. sl B siig 15 QUL GBHE (peysne 9alldsgl. B 58 #hi@ wrema
3454 gelldgib steinpl spflennii. syps Jgevs o gallunet ser peLIgHE @Hs
aflepwgeng erdgenar wenfld@ Canerenmi o

A) 330 p.m. B) 2.45p.m. C) 2.30 p.m. D) 3.15p.m.
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L) P

70.

70.

71.

71.

72.

T2

73

73.

74.

74.

If R is ranked second and Q is ranked fifth, which of the following must be true ?
A) S is ranked 3™ B) T is ranked 6" C) P isranked 6" D) V is ranked 4™

R' @uaim_noug @ P @ahsnsd wppnd 'Q" @israg GrsPd Gapsrs,
Bpaaamaupiled eig eflwrersmifipaed 7

A) ‘S apapreug @)L g8 2 sirarg B) ‘T" supmeug @)L gHev 2 srengi

C) P syoreug @) _sBab 2 sireng) D) ‘V'prearag @)L g5 2 dreng

Ram is taller than Shyam but shorter than Anurag. Anurag is taller than Raghu, but shorter
than Chotu. If Raghu is taller than Ram, then who is the shortest ?

A) Shyam B) Raghu C) Anurag D) Ram

omh epwrento @l 2 WL HETTE HEITTEES el (GETETLD. SEDIITE JEGemat afll. 2.wTib,

spened FGsnGeney el @sienib. 7@, orentn el 2.wiTs @) EST60, Wi WhEeyh
@eTeTomeneurt 9

A) apuwimb B) s C) sigiond D) pmb

Rita introduced Ram to her husband and said, “Ram brother’s father is the only son of my
grandfather”. How is Rita related to Ram ?

A) Mother B) Sister C) Niece D) Aunt

grenin seir sesraurfl_tb syfigpaih Geuis Ml n, gmblenr s Nuller oyl steh grsgsmalln G
#Cr wasr aam &mNerni. g Quelley, ombipe ML aeier 2 pey 2

A) smir B) #Gangf C) siezanfl #Gangfl D) siges

In a certain code language, ‘FREEDOM’ is written as GFQDENN. How will the word
STRONGER be written in that code language ?

A) TNSSOFFQ B) TSNSOFQF C) TSSNOFFQ D) TNSSFFOQ

ew AL @ Qurfuiss ‘FREEDOM ergyib Gened ,GFQDENN aeirgy o sireng.
oy erafisy , 5Gs @Pui’ @ Gwmylufsh, STRONGER ergpib Glansh stairaunp) @ldals
Ul GéGh ?

A) TNSSOFFQ B) TSNSOFQF C) TSSNOFFQ D) TNSSFFOQ

If 4" is written as ‘=", *x¢" as ‘& ", *—"as ‘x’ and ‘+ " as ‘+°, then what will be the value of
the following equation ?

7-30 +5%X1+9="7

A) 205 B) 206 C) 216 D) 256
e araguh, X' @+ aemaud, @ ‘X' eerand,'+" @ '+, srerayih @Pisne, EGip
GlanEdgieren auner LTl 1geir B L eTelsueTay 7

7-30 = 5% 1+9=17
A) 205 B) 206 C) 216 D) 256
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75. If A + B means A is the sister of B, Ax B means A is the wife of B, A = B means A is the
father of B and A — B means A is the brother of B, then which of the following expresses the

75

76.

76.

7.

77.

78.

78.

79.

79.

relationship that T is the daughter of P* ?

A)PxQ+R+S8-T
C)PxQ+R+T-S

AYPxQ+R+8-T
CO)PxQ+R+T-8

B)PxQ+R-T+8S

D)PxQ+R+S+T

A + Bareigs B -eir griens A srewrayib, Ax B ereirLig Beir wenewail A stareyib, A + Berairg)
B-cir sy A srarayib, A — B, Beir gibid A erenajib @spsmer, G1p o cirer orbs @OuiH P e
waer T ﬁmﬁ) 2. pensy @’1!5}55@15 2

B)PxQ+R-T+S
D)PxQ+R+S+T

Looking at a portrait a man said “That man’s father is my father’s son. Brothers and sisters I
have none”. Whose portrait was the man looking at ?

A) Grand father

B) Grand son

C) Son

D) Father

gafluib geenpll untdgl, @@ wellsi Qunsreng ‘@lis gallugBed Goésh puer shams
cré1 gepullcr e, send@ sbAsGarnT, shienasGorm Hev_wng). steflcd, HjauF

galwgHew Lnigs pui wmi 9

A) srpsn

B) Gugsi

C) o&er

D) spens

20 men can dig 40 holes in 60 days. If so how many days will it take to dig 20 holes by 10 men ?

A) 30 days

B) 45 days

C) 60 days

D) 75 days

40 gieenaener 208Ut Garigg 60 prisefid Gum aprpujib. oLy Qusiypmed, 10GLi

Grigsl 20 gevanaenen srdiaieney Bl Gefls Gumgprgujid 7

A) 30 mmmair

B) 45 mol s

C) 60 palser

D) 75 pm’&ar

What would be the most useful thing to do first of all if you see a car going at high speed,
which has just run over a child ?
A) Note down the number of the car

C) Hire a taxi and try to follow the car

B) Shout for the driver to stop the car
D) Inform the police and take the child to hospital

90 Gppasie 55 GrBai’ @ B Casons Qasgih et LTidETeD, Brimasir

QaiwCeaisimg w (LpFe HDILh 1H5
A) st ereienes SlEZ1S Glametaugl

B) gL @pens aneng HpidsGlancvel &ixelBe
C) aun_ens saflee syps sreng el Glg L (HHeD
D) sraucsrsmas saad afidzal @ GLphamBew BSHSIN LTSS aPég Glavea

b o uGursoner GFwe 1gl ?

Arrange the following words in a meaningful sequence and then choose the most appropriate
sequence from the alternatives provided below :

1. Police 2. Punishment

A) 1,2,3,4,5

B) 3,1,2,4,5

3. Crime 4. Justice 5. Judgement

C) 3,1,4,5,2

D) 5,4,3,2,1

Bipsangmid Qanpaener GILIT,EsETaT sl afasliu@sss.

1. Gunslovr 2. gem_emen

A) 1,2,3,4,5

B) 3,1,2,4,5

3. gop 4. R 5. By

C) 3,1,4,5,2

D) 5,4,3,2,1

-



L -19-

80.

80.

1/4 of a certain journey was covered at an average speed of 45 Km/hr. 1/3 at the speed of
48 Km/hr. and the remaining journey at the speed of 50 Km/hr. The average speed of the
whole journey is

A) 54 Km/hr B) 51 Km/hr C) 48 Km/hr D) 46 Km/hr
BASIRIG @5 LG Lwewgeng sunafuns wasfls@ 45 B8 Geousi e w1 (Lpiguyth.

1Buwewgens wenlliw 48 &.15 GausgBauib, Bauperar Linsenriens wenfla@ SO §..8.
CausdBanh sL_ds wpuupb. oLy Ques Giongs LwewgBer snmed Coumh srerer o

A) 54 8./ wenf B) 51 8l.i8/wwenll  C) 48 8.8 10enfl D) 46 &.i6/wenf

Below are given marks of two candidates P and Q in four papers each. Study these marks
and then answer the following three questions from Q.No. 81 to 83

Candidate P Paper1 | Paper II | Paper Il | Paper IV
Maximum Marks 75 100 80 70
Marks obtained 45 65 50 35

Candidate Q Paper V | Paper VI | Paper VII | Paper VIII
Maximum Marks | 80 75 | 100 70
Marks obtained 56 44 40 42

8CP,Q erepib @)@ worevmaviassit, preig Lm_misela QLp DG LISTST ehEHILIL BereTes.
BN@ig A 3 Cacrailsessg (Casral srasr 81 wpsd 83 arany ) aflent_wiefss.

81,

81.

i rew & & P poer | prar 11 pasr 111 Sosir 1V
R Euls
P @ irein 75 100 80 70
O 1 g pw B G L 45 65 50 35
iy e s o Q' msir ¥ srsr VI | gosir VII | goer VIII
HBmuls
1091 ke 80 75 100 70
Qi B 6 e 56 44 40 42

Considering the performance of ‘P’ and *Q’ together, who in which paper has put up the best
performance ?

A) Pin paper I1 B) Q in paper V C) P in paper I D) Q in paper VI
P, Q @@eaficr wpliQusaser Ul @, wmi, suig ungBe BadPpliuns Geiis
Gluppysiren i e16ws & mia.

A) P gmer 11 b B) QsmerV &  C) P gnarla D) Q srer VI &
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82. How is P’s paperwise performance ranked best to worst ?
A) IL L 1L, 1V B) LIL I IV C) IL L 1, 1V D)y IV, 1, 11, I
82. wmib eunflwns Puflelr @010 Usmseer, hs Aplimengy apged he Conswmeng
euenguligyid steseungy euflenswns smb_somh

A) IL L 100, 1V B) LILIIL, IV C) ILUL LIV D) IV, 1 11, III

83. Considering the performance of P and Q in all the papers
A) ‘P’ has done better than ‘Q’ B) ‘Q’ has done better than ‘P’
C) Both have done equally well D) Itis difficult to say who is better

83. Pupb Qaytb ersbevr Lm_iisefgyih Qupp wROuSTsma SR Carsa®
A) PQoar o peipns Qeu@mé@pri B) Q, P-oow oL peviprs QeuiBassRpmi

C) @oau@Eduw swwirs pamprs D) wnmit peipns Qe Bas@Rpai srer Glaneveug

Qa1 B 5 & RasTp em i Sl TLOTE LD

Below is given a passage followed by several inferences. You have to examine and answer
accordingly from amongst the alternatives provided for the following 5 questions from
Q. No. 84 to 88

Wind is an inexhaustible source of energy and all acrogenator can convert it into electricity. Though
not much has so far been done in this field, the survey shows that there is a vast potential for
developing wind as an alternative source of energy. The wind survey has four components, —
direction, duration, speed and distribution, On this basis U.P. hill areas have been found an ideal
place for setting up acrogenerators. In U.P. hills alone, as many as 58 sites have been identified.

881 § OB TL (51D S T LI D(SIDTETEIS SNt SjeRFsLILI Beirerer. @ouperp ufPoemer
Qiirgy eiraigib 5 Casirellaensi@ afleniwerdaayb. (Casral ereir, 84 apss 88 queng)

srppn, Bigs Cunsngl. Peowsd@ésd smigw FEB UG pponsrInGLLh. Sens
aGorgarGri L i AeredBuns wrbmEpai. @ésreopuiies P swns pups Qrdwrs
Gur@gub, snppi, wIpmEsDuns L@ Bosyensns DI T IS DET. FAHAD
upflur guvey FasG uGHY Quinmsiaamerd QareL g -Bena, smew @eCeuall, Garstb,
udipgeaiiciy. @@ sy U uld o .19, wevaliuGBaa aBrrgearBr i isamar
(anpPleflw Bl their 2 HLIED Cadiuh GusPrsisener) Qunmggaugpeiu Dpps @) saerrs
aet_ gl L’ Bererar. .19, weaevaalet L Gib 58 @misst Ggfey Qe Mererer.

84, Only the hilly areas of U.P. were surveyed for setting up aerogenerators.
A) Data inadequate B) Definitely true
C) Probably false D) Definitely false
84. snpp e 2 PLSH BuBoiisemer B 2..190Gss werauiGBaet i HGw
Hed QE RS L Berarer,
A) gaash GurBu syerarTenssia B) flésunons o eimenio

C) amgsmp seupr@ib D) péfwiora sargp
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85.

85.

86.

86.

87.

87.

88.

88.

89,

89,

The survey was conducted under the government of U.P.
A) Definitely true B) Probably true
C) Data inadequate D) Definitely false

B)bg semEQE@EUILY 2.9 HyuRenmeh Gl.nﬁ}@dsneiﬁm_'rut;g,snglb

A) fésunons s B) efwns @umas QT 1 aiTeng
C) gaaush Gung wrerseio D) AéPwons seupy

Wind, as a source of energy, can replace exhaustible sources of energy

A) Definitely false B) Probably true

C) Probably false D) Definitely true

B Gunss smipw FEBApTBTIRIFERSG LB FNHED OAHY) FERWTE
LweirL @S eumeh.

A) Résuwns ey B) s#flwns @wmis UL eireTs

C) saupns Bués QT eiTen g D) féswinns &M

Energy by wind is a comparatively new emerging field.
A) Probably true B) Probably false
C) Definitely true D) Definitely false

snpReflmig et o HLgh Qudioug yBwgns Gg el siren Gienmuwimih
A) sdluns Gwds aumisiiysirens B) sapna Gmds QUL siTeng
C) 2 p@Pwns af D) emBurs samy

58 sites identified in U.P. did not have electricity.
A) Definitely true B) Data inadequate
C) Probably true D) Probably false

2.1908z55Be QOpiey Qairwiin’ Geren S8 Qrrizeileh ilsienrais® @evdv
A) Péswons si B) saeus Gung wrengsvan

C) sfuns @mss QUL siTen g D) seupns G més UM jeiren g
Find the correct answer Dungeon : Confinement - :Asylum : ?

A) Refuge B) Mercy C) Truancy D) Remorse
#funer afleni_enw Gaig T@Esaqb. @5 enp : Renpeunsth i L&eSi_th : 9
A) sereweld e b B) @oéaib

C) GsmbfsBMmm D) toew a_enendasd
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91.

92.

93.

93.
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. Pick the 1%, 2", 4th, 5th 4nd 6™ Jetiers of the word ‘REASONING'. form yet another word

and then write the 13" and the last letters of the word formed
A) OR B) NE C) SE D) ES

. ‘REASONING’ stenp eumigengulir wpaed, @oemi mougs, BUGTETUGE!, g BSTaUS LoDIILD

DTG STpSFIGE S1DES S HBW aunigengenw o maund) symer [
sigpdangujih, senl R srapgenguih srupBenmed o5

A) OR B) NE C) SE D) ES

Arrange the given words in the sequence in which they occur in the dictionary and then
choose the correct sequence

I. Protein 2. Problem 3. Proverb 4. Property 5. Project

A) 1,2,3,4,5 B) 2,1,4,3,5 G)2,54,1,3 D) 3,4,5,2,1
Sipdangmid Hufe wridgmsamen ssamd wepliuig aiflesliLGsse)Lb.

1. Protem 2. Problem 3. Proverb 4. Properly 5. Project

A) 1,2,3,4,5 B) 2,1,4,3,5 C) 2,5,4,1,3 D) 3,4,5,2,1

- Ina certain code language water is written as food, food is written as tree, tree is written as

sky and sky is written as wall, then fruit is coming from where ?

A) Water B) Food C) Sky D) Tree

96 #pCpa Qumfluisd, £ o enrey starayih, 2 emay Wb sTewayLb, WoLh eurerth sTeayih
auraTLh Feuli srenayib Clanaimined, Lpih TR HES aumRpg ?

A) g B) o emray

C) eumamid D) wmb

In a ceratin code ]anguagc Room is mentioned as Bed, Bed as Window, Window as Flower
and Flower as Aircondition means, you will sleep on which ?

A) Window B) Bed C) Flower D) AirCondition
90 suGas G?mrrkﬁ?@é: S STGILIZ) UGS srereyih, UGG gosirel YLD, 296
L sTeNayLh, L} & Fh sTend: QEmeiTL ey, s sTRleh o i@ aTeT?

A) spememsh B) u@éems

C) u D) @wefigngend

- Your family is giving many unsatisfying reasons for not marrying the person whom you love.

What will youdo ?

A) I'will listen to my family

B) Will be in a confused state and not able to take a decision
C) Twill marry according to my wish

D) Convince my family to marry the person whom I love

- Bowes QruigQandrar CaipCa@a@ih @maenns Bowemib Gadig Glamerendan_ngl

srerLgmans L Gangy Cleniss srremiiaamar o.aée BalBueldsns simsuie PR
GO bLGBent mpFerpant sreflen, £ ereires Qavreumd o

A) GGbusReant GenpLiy FLBsd CerarGarer

B) B@ps spiugsn_gnb, ¢y la@ss wpyuns deaaligns G wmGuer

C) erengs Qenps afmiiuiiing Caifpes@asaamrGu web wpig L1GLigir

D) GsipOs®asaamrGu wemupyds @O hUEE ey FDBES enauda PP GlawBarsr
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95. Make a meaningful sequence using the following codes.
1. Andhra Pradesh 2. Universe 3. Tirupati 4. World 5. India

A) 1,5,3,2,4 B) 2,1,3,5.4 C) 3,1,5,4,2 D) 5,4,2,1,3
95. Bpsseim_ eumigengsenan Quner enigs auMenswims wIHmIE

| adBr Gsmb 2, HewLih 3 Bpoud 4. o s S @R

A) 1,5,3,2,4 B) 2,1,3,5,4 C) 3, L5.4,2 D) 54,2,1,3
96. “Appreciation” is related to “Reward" in the same way “Disagree” is related to

A) Crime B) Guilt C) Allegation D) Punishment
96. ‘wmITC ® Ll e Q@ iiysirers; Grimsh ‘Do1oBiy asgy Q@ igen_wg o

A) sl aiGunsioren Qawish B) gpmib

C) eppésmpm D) sebm_enar
97. What should come next ?

Theft : Confess :: Fault : 7

A) Commit B) Admit C) Dare D) Mistake

97. auflensufleh ABBFES a5 urGeuatn@ub 9
BGLE : GDODENG @654 CFmen ; : @OpLI@ : o
A) 2B wef B) guiyiGansr
C) gienflay@amer D) seugy
98. “Read the statement given below and select the correct answer.,
Statement : The decline of British empire should have spelt the decline of English.
A) The statement is a fact B) The statement is an opinion
C) The statement is an advice D) The statement is a prejudice
98. BG4 Qan@aaiu Geirer Sfidsenw Ly s sMurer aflent_sow Caih0sRésaqb.
SPdens : EBROGUITE S WTpsRunengs opm@evsHeir aTpdBpée 2y Cangyip
A) sfldesunerg o svenin
B) ,w‘aﬂa';muﬂrmg S0 SN gmwieh
C) apfdeauneng 905 o, CurFencr
D) Spfidenmwneng) #niQ L edren Sl ullsh gy emm
99. Pointing to a man on the stage, Rita said, "He is the brother of the daughter of the wife of my
‘husband”. How is the man on the stage related to Rita ?
A) Son B) Husband C) Cousin D) Nephew

99. ML G e g weflgeer sty am iy, SIGHEYID LW GemaIgnient_u wenereflucr
LosepenLw sGangyer erar awpFprer, Guoenr_ gy sirer oif s weallgs ML mefliE sty
L paTELh 9
A) waer
B) semreusir
C) a;,ﬁmg;mnmcﬁfﬁ,ﬁgﬂudu@mﬁu&uéw L& eir

D) s enIpggni washr
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. PATROL is related to security in the same way as Insurance is related to
A) Money B) Protection
C) Policy D) Finance

. Gongsreng ungsnliyL e QT iyenLwgl, HHELT STLLDIE 15 6T
Glgm_rijent_wig ?

A) wewrid B) wnsisaiiy

C) srif @ B b D) sugmaunds

As per CrPC Section 70 (2) every warrant of arrest issued by a Court shall remain in force
until it is cancelled by the Court or until it is executed.

A) False B) True C) Partly true D) None of the above
@-a0.5. s 19fey 70 (2) ensgy Qedicugpans Qer@asiu@b Sy eungeam’ §§ weipLb

gég Qe ewenguigh (o) Heog SupRUGBSE FLaigdams a@&GL uaguie
Awd@ asp Cerarerme

A) Qumis B) sewenwo

C) ung o ewenin D) Gule Gensrenensy eigiah GLimushsTg

Cognizable offence is an offence in which a police officer before making arrest has to get
permission from

A) Court B) Superior Officer

C) Government D) No Body

. “eonag Qaliusp@ i Gopb * SSTLg ST gy @M mag el wperert
@b @whs A Cup Casr@id
A) gRwenpib B) Gue myBarf
C) Hyosrhish D) eraumifcvency
As per Sec. 164 CrPC Confessions and Statements are recorded by
A) Sessions Judge B) Judicial Magistrate
C) Sub. ordinate Judge D) Executive Magistrate
@.al.p. b 9fey 164y @liyse whgh ars@Gapevmas LBy Qeuuliu®w FH T
A) spwiey fRUS B) fBszeop @ppaiuc @i
C) 2 gaf gywia fHUS D) Gewsigienp p® et
Police custody of an accused can be granted by a Court only within first days of
remand.
A) 30 B) 15 C) 45 D) 60
. 9 Gpputeflenu srae Hayeuafen Cum i, FEwaTpD s AL ST

sralcd &reblsdad@Gar sreT sginBds Gareaib
A) 30 B) 15 C) 45 D) 60
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105. Under the Indian Evidence Act, as per Section 3, “evidence” is of two kinds, what are they ?

107.

_»

A) Oral Evidence and Documentary evidence
B) Oceular Evidence and Medical Evidence

C) Direct Evidence and Circumstantial Evidence
D) None of the above

- @BBw snaprds L th 199ey 3 air ung. “Fm Sluh” AoaesunEn - yemar wrenar o

A) andiGumfl sm Auib gyevent sr Huith
B) segmpp en Quib Lo@sHgIa s Fuith
C) Gpmy smi’ Puns @il erl Huh

D) Gupelsnarer aleni ssir Quagsisng

. What is meant by “Direct Evidence” under the Indian Evidence Act ?

A) Testimony of the witnesses as to the principal fact to be proved
B) Medical Evidence

C) “Hearsay Evidence”

D) None of the above

- @B sncipids L g@e ereneu “Cpog en Hwions "sBELULGRDS 7

A) Wgdsener o eiten sminBD sy upfl er Naeler o enps smeinpy
B) wwgsiesn Suwib
C) Gasiralflencvd ensirgy

D) Gupllsnerer afent_seir Qungigags

- What is meant by “Extra judicial confession”, under the Indian Evidence Act ?

A) Confession made by an accused elsewhere, than before Magistrate or Court, to any person
or Body of persons

B) It means confession obtained by police-illegally
C) It means confession made by an co-accused

D) None of the above

QB sndipis 5L 5P fPigienn enIns LB ereip e »

A) EBueipid (1) Bsgieop @it sicens Gamy pui Hbwgl pLised b
Cendbaiu@is gliysgyemn

B) smeue mygyaugnes tpepupp euflfled Qupliud L gliyseyeny

C) sa@ppamel Qan@ég eliysayemy

D) GupGsnsrer aleni_seir Cungpsmg
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What is meant by “ALIBI” under the Indian Evidence Act ?

A) Tt means physical impossibility of the presence of the accused at the scene of crime by
reason of his presence at another place

B) It means person fleeing after commission of offence

C) It means a person who settles abroad after commission of an offence

D) None of the above

@EBw Frdipd el FH “GaipPeurgs ” (ALIBI) sreirenGleucirp Clungsiu@ib ?

A) a@h sua @B Fevewros GougiigBs sbuaGprdPe Gopss15
FapUILIBILD QUITHLD

B) @gppses yipgieil® gallbg Qanemned syaianmp GureTL@Lb

C) s @ppsos Uis a6 QualiEn@ Cremal@sed

D) Gupblendrer aflenLaer QurbsI5l

. “Presumption of Law" may be classified under two heads. What are they ?

A) Rebuttable presumption, irrebuttable presumption
B) Legal presumption, illegal presumption
C) Moral presumption. Immoral presumption

D) None of the above

L el MBwren gienliy” @)@ aenSEaIEGLD. HEal WIeal 7

A) wpdGaremdgienfiy, wpniucgesiy

B) sl gpenpuinen giewfiLy, sLLgpoeminet SienflLy

C) sipyperpues gissiLy, sipepepupp siesiLy

D) GupGarsren aflen_sasr Gumnmbsng

How the *DOCUMENTS” are classified under the Indian Evidence Act ?
A) Public Document, Private Document

B) Written Document, Unwritten Document

C) Legal Document,Illegal Document

D) None of the above

@pw enAuds L SBe g euemnd” ereiampl uamslL@EsLul Gearers 7
A) @ung gpsuearih, Feflumt ghaenid

B) erupsLiLil L. SieuenTib, STUpSLILIL TS D eUeRTLD

C) &L (pepUTaT haIeTD, FLLLPEDLDD £ oI

D) Gupllensrer elenLser GumsEsigl
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1.

112.

112.

113.

113,

114.

114.

Under Sec. 173 (2) CrPC the Report of Police Officer on completion of investigation is
commonly known as

A) Final Report B) Police Report
C) Investigation Report D) None of the above

ey 173 (2)uyg yevermiienay upiygs Aer sneush yaeusvit grdac Gediyh sfdes
CurgIaITE eTeITY) SeopEsILED 7

A) QoB sipfdens B) sneush sypfdens

C) ywwermiia syfléens D) Gue Qansiren eflen_aisr QuingsEss
Under what provision in Criminal Procedure Code the Court has power to postpone or adjourn
the proceedings in any inquiry or Trial ?

A) Sec. 317 CrPC B) Sec. 309 CrPC

C) Sec. 437 CiPC D) Sec. 436 CrPC

@Dpelued perL(pepio L g apg Ifadlsr B BB weamsBDH@ LMPaener ()
aflFngener FLaulydenasar sarel aILSHE (W) @55 ealiuspaTer BT
A) 9fey317 B) 1fflay 309

C) @fey437 D) 9fa 436

Under what provision of CrPC, a party to a proceeding may as soon as after the closure of his
evidence can make oral argument and submit a memorandum of written arguments, if any ?
A) Sec. 311 CrPC B) Sec. 314 CrPC

C) Sec. 309 CrPC D) Sec. 320 CrPC

GoHpalwe penL(penp F11 B e1ks LIfalled aflamy wp1ps erent apdhlen
Fbupsliul L grinder amiQwrflurear ard@anssemsuyth aupssl apeinTen
angGarsgeguys B5 werpdBe Gsdiwemb 7

A) 9fey3ll B) (9fey314 C) 194« 309 D) 19May320

Under what provision of the Criminal Procedure Code the Court can order to pay compensation
by the convicted person to the victim of the said case ?

A) Sec. 257 CrPC B) Sec. 357 CrPC

C) Sec. 157 CrPC D) Sec. 360 CrPC

aps 1ANefler Bp e FBLbSpLD SedrL_enanuib PpIth ey FRb YHTHSIIHHE
QaEn@&sewmb ?

A) 19fey 257 B) (9flay357 C) 9fey 157 D) (9riley360
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As per Sec. 438 CrPC, the High Court and the Court of Sessions can grant “Anticipatary Bail”
only in the case of

A) Non Bailable offences B) Bailable and Cognizable offences

C) Both Bailable & Non Bailable offences D) Non cognizable offences

@.afl.p. s 19fey 4386w Ly o wigBoepLb LHDID HogT BRETDLD (o6t gTIBeT BpseTL
SIS aupsGHeiiey aupREISTLD 7

A) Serenufley afl @iy wrg GopLd

B) deverdleh el damyu wppd eagGedssp@iu @pp

C) Sevandsh af@ib oppih o (pigwns &mppiiser

D) evag QeuigneAugsdens Gopb

Section 320 CrPC deals with
A) Compounding the offences B) Withdrawal of complaint
C) Legal aid to the accused D) Discharge of the accused

Afey 320 @.ad.qp. #LL1b cTengd GPHERapg ?

A) swrgnenb Gauig Gararesd GnpRiGeer LD

B) @ppisnenr. bl QuUpiga

C) @ppb Osdip puGsE 066 gpevib 2 5o

D) @ppib Qe puamr al@ailgsed ups

If the offence is punishable with fine only, the period of limitation shall be

A) Six months B) One month C) One year D) Three years
0 GHPIFDG Soneh wI GG gav_amarwts alBs@0h U FFBD sy
allgngenenid (& ePLSDETeN GIVQUTLDL] ST ?

A) symi tomgmisen B) & wrsib

C) 9w b D) epeim eupL misen

Warrant cases means case relating to an offence punishable for a term of imprisonment
exceeding

A) 2 years B) 7 years C) 5 years D) Not exceeding 2 years
1y GyenenT s eTeiLg — aBLESEEEE Cos Heps sraeme samLaanuns
IPiss saa @pp UpPL cupsBeers GP5GH

A) Quen® auwL st B) 96 @b

C) preng L msst D) wpergpy euqsirdiser
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119. In the contents of charges, the previous conviction of the Accused shall be stated because
A) Forenhanced punishment B) For less punishment
C) For set off punishment D) Does not arise

119. gppliug@iersia aRfulldr aper sam_emaranw LpH Gl Gasimgw srgenid 7
A) P& gemLamen ks B) @eophs sem_ener eunmis
C) gam_earew s D) g aflgonen sngemiupt @)aveney

120. Case relating to an offence punishable with death imprisonment for life or imprisonment fora
term exceeding two years is considered as

A) Summons case B) Warrant case

C) Sessions case D) Not any of the above

120, @@ wpsfe gawm_ener g14@, sr@d ey Reanp seim e () Goen® wuGLSBDHE
Buosh gedrL_ene eTeHTLIGI

A) gyenppliuner aipdg B) By wrenar anpds

C) Qzapeiren auppds D) Guwle Qensiewencu sigiajib QImGESE
121. Sec. 188 of Indian Penal Code denotes which of the following offence ?

A) Disobedience to order duly promulgated by public servant

B) Affray

C) Causing Hurt

D) Public servant receiving bribe

121. Siey 188 QBRw gem_aerd s b eTfg GPpiBear upH GPHOIGR DS 7
A) Qunrg safupned gpepwrs eflenbLliil. L g S Lemendgé BpliLigunenin
B) #éapey
C) smuib aflenerailiioig)
D) wyga sonflui evesaid aunsigaig
122. Whoever escapes or attempts to escape from any custody in which he is lawfully detained for
any such offence is punished under which of the following sections ?

A) Sec. 212 IPC, B) Sec. 222 IPC.  C) Sec. 220 IPC. D) Sec. 224 IPC.

122, eroupmifigpiib s L TRwi&s snaellsd enaudsiL g (ba@GLD UTSSTUIL ageflapib SLT6%
sag sUL gpwgy Cung Epangpid eips Ifaflefley Bp sainydsli@&pmt 7

A) ey 212 @.8.4. B) Sfey 222 @).5.5.
C) ey 220 @).5.5. D) ey 224 @).5.4.
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- Sale of obscene books etc., is dealt under which of the following sections ?

A) Sec. 300 IPC. B) Sec. 292 IPC. C) Sec. 290 IPC, D) Sec. 295 IPC.
2UTE Ydssmiser afpuener Cauised wpaelluet stis fpanemib IMaller Btp
@SOS Ol Gereng 9

A) 1906y 300 @).5.5. B) ey 292 @.5.e.

C) 1ifey 290 @).5.5. D) ffey 295 @).5.5.

Sec. 170 of Indian Penal Code deals with which of the following offence ?
A) Punishment for cheating by personation

B) Punishment for cheating

C) Personating a public servant

D) Assisting in concealment of stolen property

- ifey 170 @38 w e _erend sl tb Spsngmih a1ps @OpsBenen GOIGRng 7

A) ppEneapr L GEnd wippasH@s Sem_ener
B) owmppraispEs sen_ e

C) @ung sanfluess Gumred guer orpm b Qadige
D) 8@Ll@l Quigeer wepliugpE o6 Gadise

Act endangering life or personal safety of others is an offence under which of the following
sections ?

A) Sec. 335 IPC. B) Sec. 336 IPC. C) Sec. 337 IPC. D) Sec. 338 IPC.

- 2 lBéG seg wppatsalear oL purgEminipE sutwib eearellsfp Qedems ais
Bpangeid Ifefafled @poib ?
A) dfey 335 @).5.4 B) 9fay 336 @).5.7.
C) 1ifey 337 @).5.5. D) wifley 338 @).5.5.

Unnatural offences are punishable under which of the following sections ?
A) Sec. 376 IPC. B) Sec. 375 IPC. C) Sec. 378 IPC. D) Sec. 377 IPC.

- Qupensd@ wipner @pprisdr Epsngpnd aips 9Malsr £ @ppib ?
A) ey 376 @).s5.5. B) diley 375 @).5.5
C) ey 378 @).5.5. D) ey 377 @.5.4
Act of a child under how many years of age is not an offence ?
A) Under 7 years of age B) Under 8 years of age
C) Under 9 years of age D) Under 6 years of age

shs MUBBGLLLL 9@ Gipfasiist Qrusd GppLppsts swEILEEDS 7
A) eup wuBpEru e B) eil(® ewwBp@ il
C) gérug anwBpeEun’ D) sy avw@p@t o e
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128.

129.

130.

130.

131.

131.

When two or more persons by fighting in a public place disturbing the public peace is said to
have committed the offence of

A) Causing Hurt B) Rioting
C) Assault D) Affray

. @ren® swwg HSHEG CoPLIL L QIisT ST Qung GLghed savenuiGaugar gpatd
Qungl sjeBewus Gemedgth Guirg saiias Bipangmih 15 GppHeng LhEpmisdr 7
A) smwith o WL & @HB B) swsw afeeralldssy
C) gnégse D) sésgey
Under what provision of law a Police Officer may seize any property which may be alleged to

have been stolen or which may be found under circumstances which may create suspicion of
the Commission of any offence ?

A) Sec 9l B) Sec. 102 C) Sec. 100 D) Sec. 200

. e fefer B amas sgraei B L’ ® GGUUSTS GlFmsveuiIIGID Sevevg

BeLoul ylugns sEGssLUGD TS Qummenerujih (Sevag)@opib aGsgih
Qeiwiu Gara@sepib sEGsssms o 1@ GpRemauls sramngh Gurgear
enasliuppevrid 7

A) Sifey 91 B) ey 102 C) 9Mey 100 D) e 200

As per Sec. 154 of CrPC every information relating to the commission of cognizable offence
if given orally to an officer in charge of a police station shall be reduced to writing by him or
under his direction and be read over to the informant and shall be signed by the person giving
it, such information is known as

A) Final Report B) First Information Report
C) Police Report D) None of the above
Gy 154 @.afl.p. sy enag Qeugp@iu @ppGursgy Ceduiul . GUug upmlu

SaIRanE gaaayh srasd Haww QuIpiliy JSMUNGHE aumiiQuorfluns
Qan@ésiiu@uwrenme o5 saomGar (1) 2 g@ralaruy Gur erqpsiu®se Gausn(Gid.
saae Qsn@isaulib Ly ss srandsg meQuriub QupGae@ib. ks FaHauadle
QuLiwit eTeirest 9

A) QB s B) wpse gaae Hypfléams

C) smaush yfldens D) GuGe Qendrer aflenLaer GCLINGHSTS

An accused committed an offence of house breaking by using false key. The M.O. classification is f :]'
A) 11 (K) B) II (C)

C) I (N) D) 11 (V)

9@ Gppaned sarers sreflwned Yo g Bpps B0, Hems G GDD
aensiur’ e @GP lGsd Gaar@n

A) 11 (K) B) 1 (C) C) I (N) D) I (V)
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Intimation about the arrest or detention and release of MLA’s, MP’s should be sent
immediately to

A) Prime Minister B) President of India
C) Speaker of the State Legislature/Parliament D) Chief Secretary to Government

sl weip o pilent wHpnd urgreswern o gl leriser eeg Gadiuliu@ i Gung
SHoveg al@gsaew Celuliu@bCung o Lenguns BPaseil. usalhsE Saal
QsfafdsiuL. Gauem@ b

A) Hogio wEEM B) muwiss sevevari

C) sl seu/ungresweanp surgruat D) sss geoaeawn Qawenert

Which of the following sections of Indian Penal Code deals with the offence of
“Dowry death” ?

A) Sec. 304 IPC. B) Sec. 304 B IPC. C) Sec. 304-A IPC. D) Sec. 498-A IPC.
Epasaw_suppied @ EFw sew_amend 5L gRer e1ps Nfley “aigg senenr g™ L
@GS pg 7

A) difley 304 @).5.5 B) fley 304 B @).5.5

C) Aafey 304-A @).5.5 D) uifey 498-A @).5.5

. Disclosure of Identity of a victim of rape is punishable under which of the following sections »

A) Sec. 376-A IPC. B) Sec. 377 IPC. C) Sec. 228-A IPC. D) Sec. 509 IPC.

. 5J5U$1:"—a' Gpprsaile UTRESULIL L aueny e SyenL_winers Qghujb Ly |
Gleu

UuGgSsiIse Epsc aps IMeler 8 gppid 7
A) 9fey 376-A @).5.4. B) 19dey 377 @).8.4.
C) Ofey 228-A @).5.#. D) ey 509 @).5.4.

persons assembled for the performance of funeral ceremonies. ‘A’ is punishable under which
of the following section 7

A) Sec. 427 IPC. B) Sec. 296 IPC. C) Sec. 503 IPC. D) Sec. 297 IPC. |
‘o ereip put @G 1g.@I6 HFSEN mepss ‘wells 19GTFFes’ sonsPiiy Guigi, =
el gBe FoFsL miGsameard CFISD @S Fal ujeToTeuisend@ @)Ly

aflenarailé@pri. Gupuing ‘= pudsr Qeusreng Spsngith eihs (Aielsr &p @optd 7 |

‘A’ commits trespass entering a graveyard and offers indignity to human corpse disturbing the |
|

A) fley 427 @).5.4. B) ifey 296 @).5.4.

C) fey 503 @).5.4 D) ey 297 @).s.4.

Sec. 494 of the Indian Penal Code denotes which of the following offence ?

A) Bigamy B) Adultery C) Prostitution D) Criminal Conspiracy

19fey 4M @B ser_emers s 1 Lb Bpangypih erdiaamsuner gopsBamer GOIIBHDg 7
A) sewaser yebevg enerall o WL e @@a@b GunGs aw@Lh Bpioewrid OlFdised

B) wpeom pipis Lyewmiss

C) efludenmib

D) @ppepm 75
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Which of the following sections denotes the offence of ‘Unlawful compulsory Labour® ?
A) Sec. 373 IPC. B) Sec. 372 IPC. C) Sec. 374 IPC. D) Sec. 375 IPC.

89& l?un Wfeysefed ez Iy “Fl L yienspp &1L mw o eplin]” GppsBeer UHP
Gfpg ?

A) 9fey 373 @).5.4. B) ey 372 @).5.4.

C) fey 374 @).5.4. D) ddey 375 @).5.4.

If a theft in respect of any idol or icon in any building used as a place of worship in the state

of Tamil Nadu is committed, under which of the following sections it is punishable ?
A) Sec. 382 IPC. B) Sec. 379 IPC. C) Sec. 380 (2) IPC. D) Sec. 381 IPC.

SUEPHI19.60 2. 67Ten GTHS R(B HL.19.LLD @mm@mﬁmﬁnﬁ uweTu@SSLLGEDSET,
.g,ra:m_q.x_ﬁamm 2 eiren afldRgsgengCGumr cwwwﬂ Flenaw augaugengBwm seraun@ib
Qurwevneng e1pg psraspid 9feller 81p semydagzssg 7

A) (9fey 382 @).5.4. B) fey 379 @).5.5.
C) Sriey 380 (2) @).5.5. D) 19fey 381 @).5.4.
Which of the following punishments is not covered under Sec. 53 of Indian Penal Code ?
A) Death Penalty B) Solitary confinement
C) Imprisonment for life D) Fine
Bipangmib gem_aarsefle) e1ps sew_enar iflay 53 @pSw g ens 5L GR6w
GO OuL s gep ?
A) wpewr gewr_ener B) geflurs Rerpenariug
C) siyer sedm_enen D) syugnsib
. Whoever by words either spoken or written, brings hatred towards the Government established

by law in India is called
A) Affray B) Rioting C) Sedition D) None of the above

. @pRwraled L tiug Bgeil Qupp HoPenen GeEreeliLi L. Jjebevgl eTUpSLILIL L

Glenpaer ppevions Qemlilé@ o ereamé@Hn GOOLD sTeleuTnl JepssliL@Fpg ?

A) sdagey B) sewaw aflearalldse
C) myoessGorsin D) GupGlersiaransy sigiajb QUmBBSTS

Who in the village is provided with a badge with inscription “Village Police” ?

A) Police Constable B) Village Head man

C) Thalaiyari D) Kamam

Epmorisaflsy stamae “Bymo sreusvri Vsrein aflevency eupiisLLL HeTarg ?
A) srarms e B) &rmn geneveugnds

C) sevewniés D) siems@nde

Which P.S.0 states persons whose finger prints are to be taken for record ?
A) 802 B) 803 C) 804 D) 801

s sraus e gy enent sie, sTarisEseiw allge LG asmer HyaiedBHETE TG GG
Qaneiren GoustrBiLh ereiig) FpIS PGS ?

A) 802 B) 803 C) 804 D) 801
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143. The possession of lathi by constable during large assemblies such as festivals, processions
and the like is mentioned in P.S.0.

A) 3715 B) 537 C) 735 D) 374

143. Deafpraas, saieeiisdr, ypselluer Gursp Gisth dal’ LI & HLh FowHBe
sgaueder Guilsh sjoidsliL@b FTQUCVASET QULPAHSLONET HLg.&enar augsids Gamreren
GaushiLb sT63 FnpiLD HT. 5.9, G

A) 375 B) 537 C) 735 D) 374
144. Use of handcuffs to the accused is dealt in P.S.0.
A) 641 B) 640 C) 645 D) 650
144. waRéw esaflaig Cuiss uph GIIGL srase Hleney gLenenT eTel. —
A) 641 B) 640 C) 645 D) 650
145. Police officers are forbidden to issue one of the following to private individuals
A) Copy of FLR. B) Character certificate
C) Copy of search list D) Witness summons

145. Bppacin_uppier sTeng FeNLMISEssE anpiis sraic HPsThEcT e g Qe @eirenesit

A) @psed saas syfldma pH B) wusiry enenblsgp
C) Gp@ge UL igued paed D) an’ Paefen sienpliLimenest

146. A person who is arrested by police should be informed of the following
i) His grounds of arrest
ii) His right to be consulted and defended by legal practitioner
iii) Source of Information leading to arrest
A) (i)alone B) (ii)alone

C) (i)and (ii) only D) (i), (ii) and (iii)

146. evag) Qeiuiu’ L pLGSG HearaigLmaisenar Lppl sap Gouahr@id
) ayueny ez Geiwiul’ LgpaneT FTTGETLD /& TGS I & T
i) aupdsflesmr sepgrie Qedlaspane Salnsl 2 flenio
i) eag Qo o gailu sHaiaslen apeusans

A) (i) @b B) (i) @b

C) (i) wppb (i) o @b D) (D)(ii)(ii) g Pw epeirgith
147. Appeal against acquittal in a case is decided by

A) Superintendent of police B) D.LG. of police

C) District Collector D) State Government

147. af@aeawner aupsfen ipret Guapapl® CFiamss Bioned g wik 2
A) areuch sethrsmenfliiLmeni B) a&meush gienp Glenegseneveaui

C) el syl Rui D) wrflew SyIFnmaHLD
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148,

148.

149,

149.

150.

150.

151.

151.

152.

152.

153

153.

‘Q'— Branch deals with

A) Idol thefts B) Accidents

C) Extremists D) Police Administration
Q' - idafer Gauensy

A) Bevaw Bl Badr upug B) elluggiser Lppug:

C) Balpoun@aenens: &eiwamentliiig D) sreusd giaunaid g

Who conducts the examination for selection of IPS officers 7

A) TNPSC B) UPSC C) BSRB D) RRB
@EBw sreusy uesfl o Bsrdaseneng CaipRa®a@b Caiayammen BLdaraus wmi ?
A) 1. 76119 6160, 9 B) u.19.e160.8)

C) 19,100 94719 D) wyi.gyh.9

Police Personnel Information System (PPIS) is maintained by

A) Modus operandi Bureau

B) Tamil Nadu Police Computer Wing

C) Crime Branch Criminal Investigation Department

D) Special Branch Criminal Investigation Department

anasd sjgyacviselier usllupenpsd saaucaements (PPIS) womod g

B) #lipsn® areue senflad) 19fey

C) @ppinife) ool ywenniag giop D) seflidfe) @ppl yeamias sien

A) Gswed gpenp Fmi_th

Final report is prescribed by which section of Criminal Procedure Code ?
A) 173 B) 154 C) 82 D) 436

Qo sifsews Gpp Sengeer wpepé oL gBer siis Gaflen G1p
TPUESSUILL PeTeng 7

A) 173 B) 154 C) 82 D) 436
Sardar Vallabhai Patel National Police Academy is situated at
A) New Delhi B) Dehradun C) Hyderabad D) Mussooree

Fhigmi ausvevimi LGL e BgPw s sypath syenwigierar @b

A) g Glcved B) GLgn(Beir C) eansonunsg D) wpGanh

With whose order, a police officer can investigate a non- cognizable offence 7
A) Judicial Magistrate B) Deputy Superintendent of Police
C) Thasildar D) Superintendent of Police

anassh sfamd wngenw yenemuiler Guilled (g dad s @HniRer 11 Ljsver
aflergenenr Gediwentd 2
A) @ppeaus @ et B) ameush gienenrd: seinameniiiimeni

C) aui’ méBluit D) aneush seiwamsnflliumeni

S
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154.

154.

155.

155,

156.

156.

157.

157.

158.

- 158.

159.

. Medical History Sheets of Head Constables shall be in the custody of

36- (IR

Within how many hours, arrested person shall be produced before Magistrate excluding the
time necessary for the journey from the place of arrest to the court ?

A) 12 hours B) 48 hours C) 24 hours D) 36 hours
enggl Geuwlin’ L e eag Qe G sRGES FPLSPIPDEG JpsS

iy Gpiss Gpmb selliga sipsmer wenfl Crus@p@s Gppailuc pEaut wpsiny i
u@ssiiuL. GeusinEib ?

A) 12 wend B) 48 wewni C) 24wenh D) 36 wenfl

The appointing authority of Sub-Inspectors of Police is

A) Dy. Superintendent of Police B) Superintendent of Police
C) D.I.G of Police D) Director General of Police
2 zaf splieunenigeer Huinenh GFdiub sBFETmh Glanesm_euit

A) grenewr snauel & et et CLmen B) asrash sewmarsflliLimeni
C) smaush gienentg genevart D) snasse gleop Gus@mT

A Police Officer, who is on compulsory wait can avail joining time to join his new post for

A) 6days B) 7 days C) 2days D) No joining time |

UL s STFBEGUIT o 6TeT o5 SIgIaT SeTHl LB ugallufley Gy erdiaueray prL s |
siRdaid Qanarsmevmnd 7

A) 6 prlaer B) 7 mmiamer C) 2 paiaer D) eigayflaena

What is the time limit to prefer mercy petition ? :

A) One month B) 3 months C) One year D) Notime limit

Fmenew ngaFeT FAIIFGD FUT STESmaT Bl seps@er swiniss Gaem@id 2

A) @5 Lomsh B) epsirm Wwmgmisan

C) 9w 16 D) smev sugiby Heni_wingl 4

The maximum period of Special Disability Leave sanctioned to a person is
A) 24 months B) 12months C) 6 months D) One month

Spuiy Guevreie aNG UL HPSLL 0TS sreueuena) FILaen eupmalILBE DS .

A) 24 wrgmisen B) 12 wrgdssn  C) 6 wnghisar D) @@ wrgib

A) Station House Officer B) Sub-Inspector of Police

C) Station Writer D) Circle Inspector

r péh & taaleT oEEgo augeTPg) SRS . QLD @més G
A) Rereuws HMaIeh @Y eusuii B) amitiy-gyiaumeri

C) flevaws s1pdsT D) el gpuieunart
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160.

161.

161.

Which of the following reward is not awarded to Sub-Inspectors of Police ?
A) Good Service Entry B) Meritorious Service Entry
C) Money reward D) BothAand C

. Bppasin_aupded o gofl guileunarisess@ apiEiL_TE Qo ag 7
A) ppuesiis uBey B) Quisg s@is uel uBey
C) uvewr Qaugod D) A wppns C

To whom the original post mortem certificate has to be sent by the Medical Officer ?
A) To the Judicial Magistrate concerned

B) Concerned Police Station

C) To the Inspector of Police

D) The Chief Judicial Magistrate concerned

gz syt 9815 ufGargenen e aneflenar wimsE sepili Ceusm@h 9
A) sbwisiuc L gppeus FRwern @an EE e

B) sbwisiiul L sreusy PerawgBnées

C) apdioumensi et endeE

D) sewew gppalus fRwem s@eaurt SIS G

162. A Police Officer can investigate a non cognizable case

162,

163.

163.

164.

A) On orders from Judicial Magistrate

B) On the orders of District supdt. of police

C) On the orders of the Station House Officer of the police station

D) On the orders of the District Collector

PO ST HQIIXT LTy E&d sa_ms GHDLD FDLHBOILICL SupEEnd WAGHENL W
KW By Lever aflFTreent GlFiiwewmih.

A) gREzeop EH et B) wreu’ L smeush sevramenfitiLiment
C) sreueb Pevevw Qunguiiy sgyeuewi D) wmeud S B

A victim of crime can lodge a complaint with

A) Court B) Superintendent of Police

C) Police Station D) All the above

unBasli L pui Bpdaein_ @) diselle ysti QFiwsvmb

A) pBwerpid B) snasigienp seinamentliimenit

C) sneued flenevwiih D) Gupsein._. seengg @) diselgyh »

In a complaint of theft of an article, when value is less than Rs. 10/=

S——

A) The police should Register a case and Investigate
B) There is no need for the police to register a case
C) The police can refuse to register a case

D) The affected person can take action directly

- 96 BoLE ysrie esumdr 10 wBniHés 8Cyp a_dren Qumgser B Cumerned

A) sradgiop aupdg uBey QFlig By dos a(Es Caus@ib
B) sneudbgienp eupd@ uBey Qeiiw Geausmgw sy @evencv
C) sradgieop anpsi@ uPey Qs wpdserd

D) wr@ssiiuc Leui Gpogwns BLanydens srPEseumih



165.

165.

166.

167.

167.
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Properties found on the corpses of unidentified persons, who have died of natural causes,
shall be taken charge of by the police and sent to which of the following authority ?

A) Judicial Magistrate

B) Thasildar

C) Village Administrative Officer

D) District Superintendent of police

@upens angesiisanted @ppa Guret syl wirerih GpMwus (Hemrrisefien Grogyerer
Qanigidaeen E1aID sreopufleri enaliLpp WnGEE saupep gl enauda Gaustr(Bib
A) ERssieop FHaIT

B) awL meFwi

C) &gmo Fieuns gy

D) wraullL &Tausd FetmamesiLLmantt

Can a Head Constable or a Constable declare an assembly as unlawful ? 1f so/not, under
what provisions ?

A) Can declare-P.S.0 703 CrPC 36

B) Is not cmpowered-l’.S‘O 703 (d) r/w 129 CrPC

C) Can declare-P.S.0 703 CrPC 97

D) Can declare under emergency P.S.0-703 CrPC 147

. P FENWELD areuaCrr sag e sTuaGIT 96 gl L geng a1 L aGomsLomet Falll LD

ety @flaTibLjend Qe P ETID Gl ? gL/ Geveney, crafled 6165 fleysafien Lig. ?
A) oy, &m-F.h 703 @.p.5. 36

B) o@&oib Qaneauyeoai ST B2k 703 (d) @.5.#.129

C) agyb. sm..p. 103 &8 97

D) gyib. ST skl ar.d. o 103 &5 147

s a Head Constable manning police out-post empowered to register ELR ?

A) Yes can Register ELR B) Make G.D. entry and report to SHO
C) Only in Minor cases D) Only in Grave Cases

ypasrasediLi Quagnigyerer @i Feneuenind srauevi WP pHa Pl (ELR)uB ey
Qsdiu HBaryd Garew eIt ?

A) gpth. 1p.H-SH- uBey Geliwemd

B) Qug mrl @@ uBe Qg Qane®  f | DINIDBEEG NP EE
Qaiiw Gaue@Ld

C) Qg cupd@Gaeics @b
D) Qur@ppRsaied L (B
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168.

168.

169.

170.

170.

-_.-_ == s

Station crime history consists of how many parts ?
A) 2 parts B) Onlyonepart C) 3 parts D) 5 parts

amae flenewwd Gop Ty assemer LGB asT CareTg 9

A) 2 ugPasr B) 9CGr 9@ u®

C) 3 ugBadr D) 5 ugBsen

In respeet of charges of tortures or death or grievous hurt caused by the police the senior
officer receiving a complaint should after a general enquiry, report the case at once to

A) AD.LG of police

B) A Superintendent of police

C) Inspector General of police

D) Revenue Divisional Officer

. PG BUGSHEG DBreuensGun, wgennd syebewg LGSTLGLT SraD FHienpuileryne

2. G MESUILIL LG GISD L& uGLomler sjeng QLiptd o wi syRamd Cungieurer g
aflengenet FLGHeN B oL enguns sens W@ Sgnineass GauswGih 7

A) snaus grenpg gienewrs senavani

B) aneued seiwamesfiviLimenit

C) snaush gievpd sevevaut

D) Gam’i g Runeri seuisesdis

The personal files of the Head Constables in the Taluk police are maintained and kept in the
custody of

A) Subdivisional police officer

B) Superintendent of police

C) Deputy Inspector General of Police

D) Inspector General of police

FIYUBET STaIsd flenan Faaeind srawisesew wised Gariiser WITHenL_u

| Cunpiinied eveuggl Lomofés i@ Ramg

A) 2L Ganl L srassd yBami
B) ameush seiwsmendlliLimeni
C) snasd greops sienems senevaurt

D) sreush grenps semcveui




